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e� FRP� VDWLVIDomR� TXH� FRQYLGDPRV� RV� SURILVVLRQDLV� TXH� WUDEDOKDP� H�RX� HVWXGDP� D�

HGXFDomR�SURILVVLRQDO�H� WHFQROyJLFD�HP�HVSDoRV� IRUPDLV�H�QmR�IRUPDLV�SDUD�SDUWLFLSDUHP�GR�

6LPSyVLR�$PD]{QLFR�HP�(GXFDomR�3URILVVLRQDO�H�7HFQROyJLFD��6$(37� TXH�DFRQWHFHUi�QRV�

GLDV����H����GH�PDLR�GH����� QR�&DPSXV 0DQDXV�&HQWUR�GR�,QVWLWXWR�)HGHUDO�GH�(GXFDomR��

&LrQFLD�H�7HFQRORJLD�GR�$PD]RQDV��,)$0��

2�6$(37�REMHWLYD� DPSOLDU� R� GHEDWH� VREUH� D� (GXFDomR�3URILVVLRQDO� H�7HFQROyJLFD� QR�

FRQWH[WR�DPD]{QLFR� EHP�FRPR�UHSUHVHQWD�XP�PRYLPHQWR�GH�FRQVROLGDomR�H�DPSOLDomR�GDV�

DWLYLGDGHV�GH�HQVLQR��SHVTXLVD�H�H[WHQVmR�GR�0HVWUDGR�3URILVVLRQDO�HP�(GXFDomR�3URILVVLRQDO�

H�7HFQROyJLFD��3URI(37��QR�,)$0�

1D HGLomR ORFDO� GR� 6$(37� ,)$0� ������ IRPHQWDUHPRV� D� GLVFXVVmR� GD� WHPiWLFD�

³&RQVWUXLQGR� KLVWyULDV� H�PHPyULDV� QRV� HVSDoRV� SHGDJyJLFRV´� TXH� WUDUi� R� GHEDWH� VREUH� D�

KLVWyULD�H�DV�PHPyULDV�GD�(GXFDomR�3URILVVLRQDO�H�7HFQROyJLFD��FRQVLGHUDQGR��D��R�PXQGR�GR�

WUDEDOKR�D�SDUWLU GH�HVWXGRV�GH�GLVFLSOLQDV��HYHQWRV��LQVWLWXLo}HV��FXUUtFXORV��HVSDoRV�GH�IRUPDomR�

H UHFXUVRV�GLGiWLFRV��HQWUH�RXWURV��E��RUJDQL]DomR�H�SODQHMDPHQWR�GR FXUUtFXOR�LQWHJUDGR��TXH�

YHQKDP� D� FRQWULEXLU� SDUD� D� FRPSUHHQVmR� GD� UHDOLGDGH� FRQFUHWD GRV� FRQFHLWRV� GD� (37�� F��

TXHVW}HV� UHODFLRQDGDV�j�RUJDQL]DomR�H SODQHMDPHQWR�GH�HVSDoRV�SHGDJyJLFRV�� IRUPDLV�H�QmR�

IRUPDLV��GD�SHVTXLVD��GR�HQVLQR� GD�H[WHQVmR�H�GD�JHVWmR�GD�(37�
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D� $UWLJR�&RPSOHWR � GHYHUi�WHU�QR�PtQLPR���H�QR�Pi[LPR���SiJLQDV��2�DUWLJR�GHYHUi�HVWDU�
YLQFXODGR�D�XP�GRV�HL[RV�WHPiWLFRV�H�SRGHUi�FRQWHU�DWp�TXDWUR�DXWRUHV��VHQGR�TXH�XP�GHOHV�
REULJDWRULDPHQWH�GHYH�HVWDU�FRP�LQVFULomR�HIHWLYDGD�QR�HYHQWR�

E� 5HODWR�GH�([SHULrQFLD � GHYHUi�WHU�QR�PtQLPR���H�QR�Pi[LPR���SiJLQDV��&DGD�5HODWR�GH�
([SHULrQFLD�VXEPHWLGR�SRGHUi�FRQWHU�DWp�TXDWUR�DXWRUHV�
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�� 3URSRVWDV�PHWRGROyJLFDV�H�UHFXUVRV�GLGiWLFRV�HP�HVSDoRV�IRUPDLV�H�QmR�IRUPDLV�GH�HQVLQR�
QD�(37

�� ,QFOXVmR�H�GLYHUVLGDGH�HP�HVSDoRV�IRUPDLV�H�QmR�IRUPDLV�GH�HQVLQR�QD�(37
�� 3UiWLFDV�(GXFDWLYDV�QR�&XUUtFXOR�,QWHJUDGR
�� +LVWyULD�H�PHPyULDV�QR�FRQWH[WR�GD�(37
�� 2UJDQL]DomR�GR�FXUUtFXOR�LQWHJUDGR�QD�(37
�� 2UJDQL]DomR�GH�HVSDoRV�SHGDJyJLFRV�QD�(37
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������D����������� 3HUtRGR�GH�VXEPLVVmR�GH�WUDEDOKRV��DUWLJRV�H�UHODWRV�GH�H[SHULrQFLD��

������D����������� 3HUtRGR�GH�LQVFULomR�6(0�VXEPLVVmR�GH�WUDEDOKR�

������D����������� 'LYXOJDomR�GR�UHVXOWDGR�GDV�DYDOLDo}HV�GRV�WUDEDOKRV�

���H����������� $SUHVHQWDomR�GRV�DUWLJRV�H�UHODWRV�GH�H[SHULrQFLD�
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$&(66(��KWWS���ZZZ��LIDP�HGX�EU�SURIHSW�SURJUDPD�VDHSW�LQVFULFRHV
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(�PDLO��VDHSW�LQVFULomR#JPDLO�FRP

0DQDXV���� GH�MDQHLUR�GH������

&RPLVVmR�2UJDQL]DGRUD�6$(37�,)$0�����


